Comprehension-7
Passage

Directions (Q 1 to 5): You have two brief passages with 5 questions following each passage. Read the passages carefully and choose the
best answer to each question out of the four alternatives.
PASSAGE ―I

The steamship Rangoon was as fast as the Mognolia, but not as comfortable. During the first part of the journey to Hong Kong,
which was three thousand five hundred miles, the weather was
very good and the ship sped along.

Mrs. Aouda came to know Mr. Fogg. She was very grateful to him for what he had done for her. When Mr. Fogg listened to her conversation he never showed any sign of emotion. He was always careful to see that she had everything she wanted. At certain hours he came regularly to either talk with her, or just to listen to her. He was always polite but seemed to behave more like a machine than a man. Mrs. Aouda did not know what to think of him. Luckily, Passepartout explained to her what sort of character his master was. He told her of the bet which was taking them around the world. Mrs. Aouda had smiled when she heard that. She felt that since she owed her life to this strange man, he could not lose his bet.

 1. The steamship Magolia was .....
   (a) as fast and as comfortable as the Rangoon
   (b) faster and more comfortable than the Rangoon
   (c) as fast but more comfortable than the Rangoon
   (d) as fast but less comfortable than the Rangoon.

2. Mrs. Aouda was grateful to Mr. Fogg because
   (a) he had saved her life
   (b) he listened to her conversation
   (c) he never showed any sign of emotion
   (d) he was always careful to see that she had everything she
        wanted.

3. Mr. Fogg's behaviour towards Mrs. Aouda was ....
   (a) cold and unfriendly (b) polite but formal
   (c) warm and friendly (d) impatient and rude

4. How did Mrs. Aouda feel about Mr. Fogg's behaviour?
   (a) Insulted (b) Upset (c) Unconcerned (d) Puzzled

5. When Mrs. Aouda heard about the bet ....
   (a) she wanted him to win it
   (b) she was sure he would win it
   (c) she thought it was funny
   (d) she thought he was a strange man

Answers
 

	1
	C

	2
	D

	3
	B

	4
	D

	5
	B


 

PASSAGE II

It was very hot. Suddenly at about 3 o'clock in the afternoon, there fell such an abundance of rain that 150 men of the grand guard, in order not to be submerged, were obliged to leave a large depression in which they were hidden. But what was their surprise when there began to fall on the ground all about a considerable number of toads, the size of hazelnuts, which began to jump about in every direction. M. Gayet (the soldier who provided thisinformation), who could not believe that these myriad of reptiles fell with the rain, stretched out his      handkerchief at the height of a man, his comrades holding the corners; they caught a considerable number of toads, most of a tail, that is to say, in the tadpole state. During this rain storm, which lasted about half an hour, the men of the grand guard felt very distinctly on their hats and on their clothing the blows struck by falling toads. As a final proof of the reality of this phenomenon, M. Gayet reports that after the storm the three-cornered hats of the men of the guard held in their folds some of the reptiles.

1. From where could this account have been taken?
   (a) A novel (b) A weather report
   (c) A newspaper (d) A pamphlet

2. The soldiers left their hiding places because they
   (a) were scared of toads (b) were ordered to
   (c) were getting wet (d) might have drowned there

3. M. Gayet and his friends caught the toads in
   (a) a handkerchief (b) their hats
   (c) their clothing (d) the depression

4. What proof does M. Gayet give to prove that what happened
    was real?
    (a) Toads were found in the depression
    (b) Soldiers felt the toads striking blows as they fell
    (c) 150 men of the grand guard swore it rained toads
    (d) Toads were found in the guard's hats after the rain stopped

5. A suitable title for this passage would be
   (a) A Mystery (b) A Rain of Toads
   (c) A Long Time Ago (d) M. Gayet's Report

Answers
 

	1
	B

	2
	D

	3
	A

	4
	D

	5
	B


